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Questions! 100% Exam Pass Guaranteed! 1.[2016/11 New 640-911 Exam Dumps (PDF & VCE) 220Q&As Share:
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https://drive.google.com/fol derview? d=0BwwEErkugSal S116Y UdERmpV c1k& usp=sharing QUESTION 117Which two features
must be licensed on a Cisco Nexus 7000 Switch? (Choosetwo.) A.  Layer 3B. Virtual Device ContextsC. Virtual Port Channel
D. Fibre Channel Answer: AB QUESTION 118Which two features must be licensed on a Cisco Nexus 5548UP Switch? (Choose
two.) A. Virtual Port ChannelB. Fibre ChannelC. FabricPathD. iSCSI Answer: BC QUESTION 119Which two options
describe what can happen when devices are in the same broadcast domain? (Choose two.) A.  They are on the same VLAN and the
same switch.B. They are on different VLANSs and the same switch.C. They are on different VLANSs and different switches.D.
They are on the same VLAN and different switches. Answer: AD QUESTION 1201f a Nexus switch receives aframe and no MAC
table entry isfound for the destination, what will take place? A. The frame will be dropped.B. The frame will be flooded.C.

The sender will be notified.D. The destination address will be learned. Answer: B QUESTION 121Which three addresses are valid
forms of an IPv6 Address;2001:0DB8:0000:FEO01:0000:0000:0000:0000? (Choose three.) A.  2001:0DB8:0000:FEO1::B.
2001:DB8:0:FE01::C. 2001:0DB8::FE01::D. 2001:DB8:0:FE01:0:0:0:0 Answer: ABD QUESTION 122How many bits arein an
IPv4 address? A. 32B. 24C. 8D. 4 Answer: A QUESTION 123Which two addresses represent multicast addresses? (Choose
two.) A. 224.1.47.5B. 240.100.22.3C. FFO05:1D. 2001::1 Answer: AC QUESTION 124At which layer in the OS| stack does
the Hypertext Transfer Protocol operate? A. Layer 1B. Layer 2C. Layer 3D. Layer4E. Layer5F. Layer 6G. Layer7
Answer: G QUESTION 125What is the order of the OSI stack starting at Layer 1 and ending at Layer 7? A.  Application,
Presentation, Session, Transport, Network, Data Link, PhysicalB. Application, Presentation, Transport, Data Link, Session,
Physical, NetworkC. Physical, Network, Transport, Data Link, Session, Application, PresentationD. Physical, Data Link,
Network, Transport, Session, Presentation, ApplicationE. Presentation, Application, Data Link, Session, Network, Transport,
Physical Answer: D QUESTION 126What is the default bridge ID priority for Rapid PVST+?A.  128B. 32769C. 32768D.
4096 Answer: B QUESTION 127When connecting a switch port to a virtualization host requiring 802.1q VLAN tagging, which
spanning-tree port type should be configured on the switch? A. normaB. edgeC. edgetrunkD. PortFastE. trunk Answer: C
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